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image7.png
Mina has £1. She buys two planes and gets 40p change.

Which two planes did Mina buy?

Tick one

Ared plane and a blue plane.

Ablue plane and a purple plane.

Two purple planes.

Two blue planes.

Two orange planes.





image8.png
®e® @
oo TP

. . - P
Thirteen pence Thirteen pounds Thirty pounds
& & & &
thirty pounds thirty pounds L thirty pence





image9.png
Match the amounts that are equal.

Qe





image1.png
A train cost £3 and 65p.
A cube cost £5 and 99p.

How much do they cost altogether?

L4
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Rosie bought these ice-creams.

444/

Ice-creams cost 25p each.
How much did Rosie spend?
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What calculation does the bar model show?

£2 and 88p @...@
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Femi has £35 to spend.
He buys a t-shirt for £17

He also buys a cap for £12

How much money does he

nave

eft?
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Jess uses a £1 coin to buy some bananas. The bananas cost 64p.

Tick one.

Tick the correct change she will get.





